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package breakstatement; N
import javax.swing.JOptionPane; \ °
public class Main {
public static void main(String[] args) {
int counter=1;

4
int sum=0; &\
while(counter<=8){ . (
. N
Int num;
num=Integer.p Int(JOptionPane.showlnputDialog("please insert

nomber "+Ccounter));
if(num&)%,ak; //'in this situation, program return final result

sum+=nUmg;
COUNE(+4;
}// while loop

J nPane.showMessageDialog(null,"sum of your numbers is="+sum);
} //*en@ of main method
}/ of main class
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package labledbreakstatement;

&
import javax.swing.JOptionPane; 0

N
*

* @author Javad

*/ 4

public class Main {

* @param a% Xﬂﬂd line arguments
pubhc static\void 'main(String[] args) {
/' TO de application logic here

int-answer;
ing finalMessage="Congratulation! you won";
ngAnswerOccur:

for(int i=1;i<10;i++)
for(int j=1;j<10;j++){
answer=Integer.parselnt(JOptionPane.showInputDialog(i+"*"+j+" 7"));
if (answer!=i*j){
finalMessage="Sorry you lost";
break wrongAnswerOccur;
}
}



JOptionPane.showMessageDialog(null, finalMessage);
}
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package unlabeledcontinuestatement;
import javax.swing.JOptionPane; Q

public class Main { 0 )
public static void main(Stri Efgs) {
int counterOfNegativ bers=0;

for(int counter=0;c¢t <5;counter++){
int newnul‘p:%g .parselnt(JOptionPane.showInputDialog("enter your next num:"));
if(newnum>=0).continue;
counter fN%tiveNumberHﬁ

}
JOptionPane.showMessageDialog(null,counterOfNegativeNumbers);
}

&

}
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package labledbreakstatement; N ALA:S
import javax.swing.JOptionPane; ?‘\Y
public class Main { wr Y

public static void main(String[] args) {

// TODO code application logic here O

int answer;

int mistakesCounter=0; A

String finalMessage="You could finish this exercise";

wrongAnswerOccur: \

for(int i=1;1<10;1++)
for(int j=1;j<10;j++){ &0

answer=Integer.parselnt(JOptionP. nputDialog(i+"*"+j+" ?"));
if (answer!=i*j){ A

J OptionPane.showMessaﬁbﬁéog(null,"Your answer was wrong! press OK to continue");
mistakesCounter++; )
continue wrongAm\%ccur,

}

}

JOptionPane.showMe Dialog(null, finalMessage+" You had "+mistakesCounter+" mistake(s)");

} .
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return argument;
return number;



return "hello";

return 1542;
return 13.25;
return 'a’;
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